Supplementary materials

Smile code Experimental  Predicted
pIC50 (M) pIC50 (M)
CN(C)C1CN(C1)CC2=C(C=C(C=C2)C(O)NC3=CC=C(C)C(=C3)NC4 754 7 66
=NC(=CC=N4)C5=CN=CN=C5)C(F)(F) § ’
CC1=CC2=C[NHIN=C2C=C1C3=CC=CC4=C(N)C(=NN=C34)C(N)=
o 7,27 7,20
CCN1CCN(CC1)C2=CC=C(NC3=NC=NC(=C3)N(C)C(=0)NC4=C(C 652 6.40
C(=CC(=C4CHOC)OC)C=C2 ¢ ’
CN(CQ)C/C=C/C(=0)N(C)C1=C(Cl)C=C2N=C(NC3=CC(=CC=C3C)F) 550 504
C4=CN=C[N]4C2=C1 ¢ ’
OCCNC(=0)C1=CC2=C(NC3=CC=C(0OC4=CC=CC5=C4C=CS5)C(= 501 504
C3)CI)N=CN=C2NCC1 ’ ’
CN1CCN(CC1)C2=CC(=CC(=C2)C(F)(F)F)C(=0)NC3=CC=C(C)C(= 718 6.05
C3)NC(=0)C4=C(C)ON=C4 ¢ ’
NC1COCCCINC2=CC3=C(C(=0)NC=C3)C(=N2)NC4=CC=CC5=C4[
5,92 5,94
NH]C=C5
CC1=CC=C(NC2=NC(=NC=C2C(N)=0)NC3CCOCC3N)C=C1 5,40 5,60
NC1=C2C(=NC=N1)[N](N=C2C3=CC=C(0OC4=CC=CC=C4)C=C3)C5 592 867
CCC(CC5)NC(=0)C=C ’ ’
CC1=C[NH]C2=C1C=CC=C2NC3=NC(=CC4=C3C(=0)NC=N4)NC5 716 705
CCOCC5N ¢ ’
CC1=C(NC2=NC3=CC=CC=C3[N]2C4=NC=NC(=C4C)N)C=C(C=C1) 510 587
C(=0)NC5=CC(=CC=C5)C(F)(F)F ! ’
COC1=CC(=CC=C1NC(=0)C2=CC3=CC=CC=C3[N]2C)C4=CSC5=C 489 189
(\C=C\CNC6CCC(N)CC6)C=NC(=C45)N ¢ ’
CC(C)(C(=0)NCCIN]1C=CC2=NC=NC(=C12)NC3=CC(=C(OC4=CC 548 538
=CC(=C4)C1)C=C3)CI)[SI(C)(=0)=0 ¢ ’
NC1CCCCCINC2=CC3=C(C(=0)NC=N3)C(=N2)NC4=CC=CC5=C4[
6,95 7,33
NH]C=C5
CC(C)C1=CC(=CC=C1)NC(=0)C2=CC(=C(C)C=C2)NC3=NC4=CC= 782 665
CC=C4[N]3C5=NC=NC(=C5)N ¢ ’
CN1CCN(CC1)CC2=C(C=C(C=C2)C(=0)NC3=CC=C(C)C(=C3)NC4 832 779
=NC(=CC=N4)C5=CN=CC=C5)C(F)(F)F ¢ ’
CIN]1C=C(C=N1)C2=CC(=CC=C2)C3=NC(=C(N)N=C3)C(=0)N[CH] 645 657
4C5C[CH]6CCA4CI[CI(O)(C6)C5 ¢ ’
CC1=C(NC2=NC3=CC=CC=C3[N]2C4=NC=NC(=C4)NC5CCC(N)C 626 671
C5)C=C(NC(=0)C6=CC=CC(=C6)C(F)(F)F)C=C1 ¢ ’
CN(C)CC1=CN=CC(=C1)C2=CC3=C(S2)N=CC(=C3NC4=C(C)C5=C( 5 66 593
[NHIC=C5)C=C4)C#N ¢ ’
CC1=C(NC2=NC3=CC=CC=C3[N]2C4=NC=NC(=C4)NC5=CC=C(C 667 641
CN6CCOCC6)C=N5)C(=CC=C1)Cl ¢ ’
NC1COCCCINC2=CC3=C(C(=0)NC=N3)C(=N2)NC4=CC=CC5=C4 664 711
[NHIC=C5 ¢ ’
COC(=0)C(=0)NC1=C2CC3=C(INHIN=C3C2=CC=C1)C4=CSC(=C4 451 131
)C#CCOC5=CC=CC=C5 i ’
CN1CCN(CC1)CC2=C(C=C(C=C2)C(=0)NC3=CC=C(C)C(=C3)NC4 807 769
=NC(=CC=N4)C5=CN=CN=C5)C(F)(F)F ¢ ’
OC(=0)CN1CCN(CC1)C2=NC=CC(=C2)C3=CN=C4C=CC(=N[N]34) 5,47 6,00

N5CCCC5C6=CC=CC(=C6)F



COC1=CC2=NC=NC(=C2C=C10CCCCCCC(=0O)NO)NC3=CC=CC(

_Ca)CiC 6,08 5,86
NC1CCCCCINC2=NC(=C(C=N2)C(N)=0)NC3=CC(=CC=C3)[N]4N
6,70 6,53
=CC=N4
CC(N)CNC1=CC2=C(C(=0)NC=N2)C(=N1)NC3=CC=CC4=C3[NH]
c-ca 7,08 6,85
NC1COCCCINC2=CC3=C(C(=0)NC=N3)C(=N2)NC4=CC=CC5=C4 664 619
[NHIC=C5 ! !
CN(C)C/C=C/C(=0)N(C)C1=C(F)C=C2N=C(NC3=CC=C(F)C=C3C)C 546 505
4=CN=C[N]4C2=C1 ¢ ¢
CC1=C(NC2=NC3=CC=CC=C3[N]2C4=NC=NC(=C4)NCCCCN)C=C 634 6.05
(NC(=0)C5=CC=CC(=C5)C(F)(F)F)C=C1 ! !
CN(C)C/C=C/C(=0)N(C)C1=C(F)C=C2N=C(NC3=CC(=CC=C3C)F)C 551 574
4=CN=C[N]4C2=C1 ¢ ¢
CC1=C[NH]C2=C1C=CC=C2NC3=NC(=CC4=C3C(=0)NC=C4)NC5 6.26 592
CCCCC5N ¢ ’
CNC1=C(F)C=C2N=C(0C3=CC=CC=C3C)C4=CN=C[N]4C2=C1 6,89 6,70
NC1=NC=NC2=C1C(=C[N]2C3CCCC3)C4=CC=C(OC5=CC=CC=C5)
C—C4 6,38 6,24
CC1=C[N1(C=N1)C2=CC(=CC(=C2)F)NC(=0)C3=CC=C(C)C(=C3)N 182 190
C4=NC(=CC=N4)C5=CC=CN=C5 i ’
CN1CCN(CC1)C2=CC=C(C=C2)C3=CC4=C(C(=N[N]4C)N)C(=O)N3 4,85 5,09
CN(C)C/C=C/C(=0)N(C)C1=CC=C2N=C(NC3=CC=C(0)C=C3C)C4= 646 633
CN=C[N]4C2=C1 ’ g
CC(OC1=NN=CC2=CC(=CC=C12)C3=C(C)C=CC(=C3)C(=0)NC4CC 6.02 598
4)C(F)(F)F ’ ’
CIN]1C=C(\C=C2/0C3=CC=CC(=C3C2=0)0)C4=C(C=CN=C14)C5= 755 745
CC=C(C=C5)C(=0)NCCO ! ’
CN(C)C/C=C/C(=0)N(C)C1=CC=C2N=C(NC3=CC=C(F)C=C3C)C4= 615 578
CN=C[N]4C2=C1 ! !
CC1=C(NC2=NC3=CC=CC=C3[N]2C4=NC=NC(=C4)N)C=C(C=C1)C 780 708
(=0)NC5=CC=CC(=C5)C(C)(C)C § ’
CC(0C1=CC(=CC=C1C(N)=0)C2=C(N)N=CC(=C2)C3=CC(=CS3)C 587 591
N(C)C)\C=C/C(F)(F)F ! !
CN(C)CC1=CC=CC=C1C2=CC3=C(S2)N=CC(=C3NC4=C(C)C5=C([ 443 555
NH]C=C5)C=C4)C#N ¢ ¢
CC1=C[NH]C2=C1C=CC=C2NC3=NC(=CC4=C3C(=0)NC=N4)NC5 736 749
CCCCC5N ¢ ’
COC1=C(0OC)C=C2C(=CC=NC2=C1)0C3=CC4=CC=CC(=C4C=C3)C 757 743
(=0)NC5CC5 ! !
COC1=C(NC(=0)C#CCN2CCCCC2)C=C3[N]4C=NC=C4C(=NC3=C 767 79
1)NC5=CC=CC=C5C ¢ ’
CCN(CQ)C/C=C/C1=C25C=C(C3=CC=C(NC(=0)C4=CC5=CC=CC= 593 5 86
C5[N]4C)C(=C3)0C)C2=C(N)N=C1 ¢ ¢
CN(C)C/C=C/C(=0)N(C)C1=CC=C2N=C(NC3=CC=CC=C3C)C4=CN 621 642
=C[N14C2=C1 § §
COC1=CC(=CC=C1)NC(=0)C2=CC(=C(C)C=C2)NC3=NC4=CC=CC 636 550
=C4[N]3C5=NC=NC(=C5)N ! ’
CC1=CC(=CC(=C1)NC(=0)C2=CC=C(C)C(=C2)NC3=NC(=CC=N3)C 5 45 508
4=CC=CN=C4)[N]5C=NC(=C5)C ! ’
CC1=C(NC2=NC3=CC=CC=C3[N]2C4=NC=NC(=C4)N)C=C(NC(=O 5,44 5,66

)C5=CC(=CC(=C5)C)CN)C=C1
2



CN(C)C1CCN(C1)CC2=C(C=C(C=C2)C(=O)NC3=CC=C(C)C(=C3)N

C4=NC(=CC=N4)C5=CN=CN=C5)C(F)(F)F 7,96 815
[O-
1IN+](=0)C1=CC=CC=C1C2=N[NH]C=C2/C=C/3C(=0)NC4=CC=CC 8,40 8,26
=C34
CC1=C(NC2=NC3=CC=CC=C3[N]2C4=NC=NC(=C4)N)C=C(NC(=O 02 6.9
)C5=CC(=N[NH]5)C6CC6)C=C1 ’ ’
CNC1CC20C(C10C)[N]3C4=C(C=CC=C4)C5=C6CNC(=0)C6=C7C 61 617
8=C(C=CC=C8)[N]2C7=C35 ! ¢
COCCNC(=0)C1=CC=CC2=CC(=CC=C12)0C3=C4C=C(OC)C(=CC4 656 ¢ 34
=NC=C3)0C ’ ’
CN1CCN(CC1)CC2=CC=C30C(=CC3=C2)C4=C(NC5=CC=C6[NH] 14 627
C=CC6=C5C)C(=CN=C4)C#N ’ ’
CN1CC2CC1CN2C3=CC=C(C=C3)C4=CC=NC5=C(C6=CC=CC(=C6) 575 500
0)C(=N[N145)C7=CC=NC=C7 ’ ’
CN1CCN(CC1)CC2=C(F)C=C(C=C2)C(=0)NC3=CC=C(C)C(=C3)NC a6 - 07
4=NC(=CC=N4)C5=CN=CC=C5 ’ ’
CC1=NC(=CC(=N1)N2CCN(CCO)CC2)NC3=CC(=NC=N3)[N]4C(= 750 748
NC5=CC=CC=C45)NC6=C(C)C=CC=C6Cl ’ ’
OC(=0)CN1CCN(CC1)C2=NC=CC(=C2)C3=CN=C4C=CC(=N[N]34) 547 531
N5CCCC5C6=CC=CC(=C6)F ’ ’
CN(C)C/C=C/C(=0)N(C)C1=C(C1)C=C2N=C(NC3=CC=CC=C3Cl)C4 570 s 87
=CN=C[N]4C2=C1 ’ ’
COC1=CC(=C(C1)C=C1Cl)NC2=C3C=C(OC)C(=CC3=NC=C2C#N)O 610 636
CCCN4CCN(C)CC4 ’ ’
CC1=CC=C(C=C1)[N]2N=C(C=C2NC(=0)NC3=CC=C(OCCN4CCO .02 613
CC4)C5=CC=CC=C35)C(C)(C)C ’ ’
CC1=C(NC2=NC3=CC=CC=C3[N]2C4=NC=NC(=C4)NCCCN)C=C( 5 05 5 88
NC(=0)C5=CC=CC(=C5)C(F)(F)F)C=C1 ’ ’
CNC1=C(F)C=C2N=C(NC3=CC=CC=C3C)C4=CN=C[N]4C2=C1 7,72 7,42
COCC(=0)NC1=C2CC3=C(INHIN=C3C2=CC=C1)C4=CSC(=C4)C# i 5 08
CCOC5=CC=CC=C5 ’ ’
NC1CCCCCINC2=CC3=C(C(=0)NC=C3)C(=N2)NC4=CC=CC5=C4[ 574 576
NH]C=C5Cl ’ ’
COC1=CC=C(CN(C)C)C(=C1)C2=CC3=C(S2)N=CC(=C3NC4=C(C)C 489 5 15
5=C([INH]C=C5)C=C4)C#N ! !
COC1=C(CN(C)C)C=CC=C1C2=CC3=C(S2)N=CC(=C3NC4=C(C)C5 5 6 40
=C(INH]C=C5)C=C4)C#N ’ ’
0C1=CC2=C3C(=C10)0C(=0)C4=C3C(=C(0)C(=C4)0)0C2=0 5,54 5,42
CC1=C(NC2=NC3=CC=CC=C3[N]2C4=NC=NC(=C4)C])C=C(NC(=O 54 607
)C5=CC=CC(=C5)C(F)(F)F)C=C1 ’ ’
CN(C)CCN1CCN(CCC1=0)C(=0)C2=C(NC(=0)NC3=CC=CC(=C3 437 507
CIC1SC(=C2)C(C)(C)C ’ ’
0C1=CC(=CC=C1C2=COC=C2)CN/C=C/3C(=0)NC(=0)C4=C3C=C(
5,07 5,22
1C=C4
CC1=C(NC2=NC3=CC=CC=C3[N]2C4=NC=NC(=C4)N)C=C(NC(=O 623 651
)C5=C(Cl)C=NC=C5)C=C1 ’ ’
CN1CCN(CC1)[S](=0)(=0)C2=CC(=CC=C2)\C=C\C3=C(NC4=CC=C ¢ 54 .02
5[NH]C=CC5=C4C)C(=CN=C3)C#N ’ ’
CC1=C(NC2=C(C=NC3=C2C=C(S3)\C=C\C(=0)N4CCCC4)C#N)C= s a7
CC5=C1C=C[NH]5 ’ ’
CNC1=C(F)C=C2N=C(OC3=CC=CC=C3C)C4=CN=C[N]4C2=C1 6,89 6,79

3



COC1=C(C=CC=C1)C2=C(C(=0)NC2=0)C3=C[NI(CCCNC(=0)OC(

€)(C)C)C4=C3C=CC=N4 574 534
N#CC1=CC=C(C=C1)C2=CN=C3C=CC(=N[N]23)NCC4=CC=CC=C4 5,12 5,03
CN1CCN(CC1)C2CCC(CC2)IN]3C=C(C4=CC=C(0OChs=CC=CC=C5) 754 755

C=C4)C6=C3N=CN=C6N ! 4
CC1=C(NC2=C(C=NC3=C2C=C(S3)\C=C\C(=O)N4CCCC4)CtN)C= 755 ” 49

CC5=C1C=C[NH]5 ! !
COC1=CC=CC=C1C2=CC3=C(S2)N=CC(=C3NC4=C(C)C5=C(INHIC 6.51 591
=C5)C=C4)C#N ! !
CC1=C[N](C=N1)C2=CC(=CC=C2)NC(=0)C3=CC=C(C)C(=C3)NC4= 434 442
NC(=CC=N4)C5=CC=CN=C5 ! ’
CCN(CC)C/C=C/C1=C(C)C2=CC=C3N=C(NC4=C(ClC=CcC=C4CD[ 8.70 8.37
NI](C)C3=C2C(=O)N1 ! !
CC1=C(NC2=NC3=CC=CC=C3[N]2C4=NC=NC(=C4)N)C=C(NC(=0 815 8.38
)C5=C(C=NC=C5)C(C)(C)O)C=C1 ! 4
CN1CCN(CC1)CC2=CC(=NINI2C(O)(O)O)C(=O)NC3=CC(=C(O)C= 706 6.68
C3)NC4=NC5=CC=CC=C5[N]4C6=NC=NC(=C6)N ! !
CN(C)C1CCN(C1)CC2=C(C=C(C=C2)C(=O)NC3=CC=C(O)C(=C3)N 8.47 815
C4=NC(=CC=N4)C5=CN=CN=C5)C(F)(F)F ! !
COC1=C(NC(=0)C(=C)CN2CCOCC2)C=C3[N]4C=NC=C4C(=NC3= 6.53 6.94
C1)NC5=CC=CC=C5C ! ’
CC1=C(NC2=NC3=CC=CC=C3[N]2C4=NC=NC(=C4)N)C=C(C=C1)C 511 568
(=0)NC5=CC=CC6=CN=CC=C56 ! !
COC1=CC(=CC=C1NC(=0)C2=CC3=CC=CC=C3[N]2C)C4=CSC5=C 543 550
(\C=C\CNC6CCNCC6)C=NC(=C45)N ! 4
COC1=CC=C(CN(O)O)C=C1C2=CC3=C(S2)N=CC(=C3NC4=C(O)C5 7 64 6.39
=C(INH]C=C5)C=C4)C#N ! 4
CN(C)C/C=C/C(=0O)N(C)C1=CC=C2N=C(NC3=CC(=CC=C3C)F)C4= 5.86 621
CN=C[N]4C2=C1 ! 4
CN(C)C/C=C/C(=O)N(C)C1=CC=C2N=C(NC3=C(0)C=CC=C30)C4= 6.78 6.83
CN=C[N]4C2=C1 ! !
CC1=C(NC2=NC3=CC=CC=C3[N]2C4=NC=NC(=C4)N)C=C(C=C1)C 6.57 6.34
(=0O)NC5=CC=CC(=C5)Br ! 4
CC1=CC=CC(=C1C2=CC3=NN=C(NC4=CC=C(OCCN5CCCC5)C=C 7 68 785
4)N=C3C(=C2)C)C ! !
CN(C)C/C=C/C(=O)N(C)C1=C(F)C=C2N=C(0C3=CC=C(F)C=C30)C 498 496
4=CN=C[N]4C2=C1 ! !
COC1=CC2=NC=CC(=C2C=C10C)0C3=CC=C4C(=C3)C=CC=C4C(
7,06 7,15
N)=0
CN(C)CC1=CC(=CC=C1)C2=CC3=C(S2)N=CC(=C3NC4=C(C)C5=C( 6.28 573
[NH]C=C5)C=C4)C#N ! !
CN(C)C/C=C/C(=O)N(C)C1=CC=C2N=C(NC3=CC=CC(=C30)C1HC4 563 549
=CN=C[N]4C2=C1 ! !
CC1=C(NC2=NC3=CC=CC=C3[N]2C4=NC=NC(=C4)N)C=C(NC(=0 6.88 652
)C5=CC(=CC=C5)C])C=C1 ! 4
CN(C)C/C=C/C(=0O)N(C)C1=C(F)C=C2N=C(NC3=CC=CC=C3C)C4= 6.45 6.60
CN=C[N]4C2=C1 ! !
CCOC1=CC=C(CN(C)O)C=C1C2=CC3=C(S2)N=CC(=C3NC4=C(O)C 713 6.38
5=C(INH]C=C5)C=C4)C#N ! 4
CN(C)CC1=CC=C(C=C1)C2=CC3=C(S2)N=CC(=C3NC4=C(C)C5=C( 7,00 6,13

[NH]C=C5)C=C4)C#N



CNC1CC20C(C)(C100)[N]3C4=C(C=CC=C4)C5=C6CNC(=0)C6=C

7C8=C(C=CC=C8)[N]2C7=C35 8,89 842
CN(C)C/C=C/C(=0)N(C)C1=CC=C2N=C(NC3=CC=CC(=C3C)0)C4= 631 636
CN=C[N]4C2=C1 4 ¢
CN(C)CC1=CC(=CC=C1)C2=CC3=C(S2)N=CC(=C3NC4=C(C)C5=C( 6.28 6.95
[NH]C=C5)C=C4)C#N ! ¢
OC(=0)C1=CC=C(C=C1)C(=0)\C(SCC2=CC=C(Br)C=C2)=C/C3=CC 177 519
=C(F)C(=C3)[N+]([O-])=O ! !
CC1=C(NC2=NC3=CC=CC=C3[N]2C4=NC=NC(=C4)N)C=C(C=C1)C 700 709
(=0)NC5=CC=CC(=C5)OC(F)F ! !
CNC1=CC=C2N=C(0OC3=CC=C(F)C=C3C)C4=CN=C[N]4C2=C1 6,25 6,68
0=C(CC1=CC=CC=C1)NC2=CC=CC(=C2)C3=C(IN]4C=CSC4=N3)C 759 716
5=CC=NC(=N5)NC6=CC=CC(=C6)N7CCOCC7 ¢ !
CC(C)(N)C(=0)NCCIN]1C=CC2=NC=NC(=C12)NC3=CC=C(0C4=C 550 504
C=CC5=C4C=NS5)C(=C3)Cl ¢ ¢
CC1=C(NC2=NC3=CC=CC=C3[N]2C4=NC=NC(=C4)N)C=C(NC(=0O 830 836
)C5=CC=C(S5)C(C)(C)C)C=C1 ¢ ¢
CN(C)CC1CCN(C1)CC2=C(C=C(C=C2)C(0)NC3=CC=C(C)C(=C3)N 812 780
C4=NC(=CC=N4)C5=CN=CN=C5)C(F)(F)F ! !
CNC1=CC=C2N=C(NC3=CC(=CC=C3C)F)C4=CN=C[N]4C2=C1 7,40 7,64
CCN(CC)CCCCNC1=CC(=NC=N1)[N]2C(=NC3=CC=CC=C23)NC4 5 88 561
=C(C)C=CC(=C4)C(=0)NC5=CC(=CC=C5)C ! !
CC1=CC(=CC=C1)NC(=0)C2=CC(=C(C)C=C2)NC3=NC4=CC=CC=C 597 631
4[N]3C5=NC=NC(=C5)N ! ¢
CN1CCN(CCCNC2=CC(=NC=N2)[N]3C(=NC4=CC=CC=C34)NC5= 591 578
C(C)C=CC(=C5)C(=0)NC6=CC(=CC=C6)C)CC1 ’ g
CC1=CC=CC(=C1)C(=0)NC2=CC(=C(C)C=C2)NC3=NC4=CC=CC=C 709 635
4IN]3C5=NC=NC(=C5)N ! !
NC1CCCCC1INC2=CC3=C(C(=0)NC=N3)C(=N2)NC4=CC=CC5=C4
7,49 7,13
C=C[NH]5
CN1CCN(CC1)CC2=NC(=CC=C2)\C=C\C3=C(NC4=CC=C5[NHIC= 627 6.26
CC5=C4C)C(=CN=C3)C#N ¢ ¢
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